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‘The question paper is divided in five units. Each unit carries an internal choice,
Attempt one question from each unit. Thus attempt five questions in all.

All questions carry equal marks.

Assume suitable data wherever necessary.

English version should be deemed to be correct in case of any anomaly in translation.

FPIE— 1/ Unit -1

(an) frefafa o €81 av @ g HikR-—
(i) Hub {iiy Band rate
(i} STDM (iv) Modem
Give the proper definitions of the following:-
{i) Hub (i) Band rate ]
(iii} STDM (iv) Modem 12

(q) T g e T@s fa gie | 4 fie o o §) 9t aoie
Favs F 1000 et gfre o0 wwh & o d9fe Ye W@ fie ey #RE
An analog signal carries 4 bit in each signal unit. If 1000 signal units are sent
per second, find the band rate and bit rate. 08
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FIEIR AU 3 s TR S99 W AT B SR |

Explain the advantages of fiber optics over twisted pair cable.

fdiex fpa weR TRelieiR @ e 2t 87 saengd
How is the repeater different from amplifier? Expiain.

TDM T FOM & W e $ifr |
Make comparison betweent TDM and FDM.

FH1E~ 11/ Unit - 11

Slotted ALOHA a7 8ot 87 firg ¥ & Sual Jfwan efficiency 36.8%

B E1

What is slotted ALOHA? Prove that its maximum efficiency is 36.8%.

oA i ¥ e e B wEEEd |

Explain the token management in the token ring.

ffafaa § sfe Pife—

(i) IEEE 802.4 and IEEE 802.5

(11) Message Switching and Packet Switching
(iii} CSMA and CSMA/CD

Differentiate between the following:-

(i) IEEE 802.4 and IEEE 802.5

(ii) Message Switching and Packet Switching
(iii) CSMA and CSMA/CD

oRIR WEIRd SN B @ T SR 87

What are the reasons for using layered protocol?
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g#I3— I/ Unit - 1T

&Y. fhaee 989 B cell BT STAMT w6 HRAT 27 GEENE |
Why does ATM use fixed size cell? Explain.

AT ATM cell source IT destination address Y 307 88 A WP ey &7

S |

Does ATM cell carry a source or destination address in its header? Explain.

Transparent T8+ Ww=gY |

Explain Transparent Bridge.

freferia w Rofmf fofed—
(i) Leaky bucket trafic shaper
(ii) Token bucket trafic shaper
Write notes on the following:-

(i} Leaky bucket trafic shaper
(if) Token bucket trafic shaper

Shortest path TR $T SUYRT SEERW S FRT THIE |
Explain shortest path algorithm with suitable example.

SPIE— IV / Unit -1V

TCP/ IP o UBR 1P fragment & PR & a8 § Fvfy ar 27 wmsmsy |

How does TCP / IP decide the size of [P fragment? Explain.

IP address, T8 Hexadecimal address C0290614 €, 1 dotted decimal

notation ¥ TRaftfer #ifm)

Convert the 1P address whose hexadecimal address is C0290614 to dotted

decimal notation.

MIME %1 T93n5e |
Explain MIME.
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HTTP ¥ Wt Frerfem o wmemed—

@iy Option (ii}  Head
i) Put (iv) Post
Explain the following related to HTTP:-

(i) Option (i) Head
(iii) Put (iv)  Post
Fefafan & g sy Ffed—

(i)  Plain text and Cipher text

(i1}  Cryptanolysis and Cryptography
Differentiate between following:-

(i)  Plain text and Cipher text

(ii) Cryptanolysis and Cryptography

IPV6 & 31 T ferewrelt @Y forRad |
Write two main features of IPV6.

FHE— V/ Unit -V

TP ted sl U T2 B mea ge PR

Make comparision between application gateway and transport gateway.

Frefafes o i
(i) V.22 Modem

(ii) V.32 Modem

(1it) Null Modem

(iv) Echo Supressor
Explain the following:-
(i) V.22 Modem

{ii) V.32 Modem

(iii) Null Modem

(iv) Echo Supressor
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TET 10 (@)  eed e Riew ® frefied st ot wf SRR
' (i) File and Printer Sharing
(ii) Account administration for users
(iii) Back up data
(iv) Securty
Discuss the following functions of Network Operating System :-
(i) File and Printer Sharing
(i) Account administration for users
(iii) Back up data
{iv) Security
EEEE TR
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